Greek 12 (Feb. 11, 2011): Aorist imperatives

The first aorist imperatives are tricky because —ov and —au figure as verb endings elsewhere and

because RG’s paradigm verb, mavw is monosyllabic in ways that make it hard to deduce what

the accentuation is for other verbs. In the aorist accents matter for meaning.

There are two ways that circumflexes show up in the conjugation of the aorist:

(1) A standard rule* A long penult before a short ultima, if accented, must bear the

circumflex (rtetoov, meloat [imper.]). (Remember that the circumflex occurs only on long

syllables). We’ve seen this rule before: eintov, eineg, eimne, eimopeyv, eimete, elmov. Also

imperatives (Tave but mavete).

The accent on the 1+t aorist active and middle imperative is recessive but, with

monosyllabic stems, can turn into a circumflex if (rule 1, above) that syllable is long:

nietoal, avoay, but dofat from doxw (apx-). RG's examples mavoov / mavoal are

in a small category (#198, p. 189). (Recall that, though a diphthong, the —atis short

both in the 1% aor. middle singular imperative and active infinitive.)

(2) The accent on the 1¢ aorist active infinitive is always on the penult (circumflex if long

[rtetoat, axovoay, omoat]; acute if short [tod&at from modttw]).

Act. 2s. Act. 2pl. Middle 2s. Middle 2pl. | Act. aor.
INFINITIVE
[Acc. recess.*] [Acc. [Acc.
recessive] recessive]
[Meibw ntetoov (1) meloate ntetoat (1) neloaoBOe nteloat (2)
Axovw axovoov (1) axovoate axovoat (1) | akovoaoBe | akovoal (2)
KT YOQEW katnyoenoov (1) | katn- Kotn- Kotn)- Katn-
yoorjoate yoéonoat (1) | yoorjoacOe | yoonoaut (2)
molew notnoov (1) noinoate noinoat (1) nomoacOe | momoat (2)
Aéyw elTé* elmete eLTtELY
I'tyvopat YEVOL YéveoOe
AavOavow A&OEe* AaOete AaBov A&BeoOe AaBetv
IMaoxw maOe* maBete maBov m&BOeoOe naOetv




A way to keep the accents sorted out is to remember that of aorist infinitives, only the 1% middle
is recessive; the others are all quirkish:

Active Middle Passive
1st axovoal akovoaoBaut [recessive]
2nd AaBetv AaBéoOat
All axovoOnvat, onoOnvat, omOnvat

AORIST INFINITVES: ONLY * —acacOat IS RECESSIVE.

All of the aorist active and middle imperatives are recessive (table above) except the 2" aorist
singular middle (Aafov)*, though rule (1) sometimes yields a circumflex with the 1% singular

active and middle (mteloov, meloat, mavoov, mavoat).
AORIST IMPERATIVE: ONLY -ov IS NON-RECESSIVE.

(Even the aorist passive imperative, which we haven’t encounter is recessive: -Ontt/” -Onte.)

*An issue so nasty I won’t hold you responsible for it. The accent on the 24 aorist active
imperative is recessive: AdO¢, m&O¢, u&Oe, éAe [aioéw, elAov]. There are, however, five

exceptions:
eAO¢ [€oxopar>NABoV];
elrté [Aéyw > eimov],
10¢ [6paw > €ldov];
Aafé [AapBavw > EAapov];
e0Eé [ebplokw > nboov].

RG has given you only exceptions [Aafé, eirté éA0€], for unfathomable reasons. Shocking.



